I'paduk xkoncyasTanmii OI'D, EI'D na 2024-2025 yu.r.
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9A 95 9B or 11
0 BaXkH. 25 reorpad 22 0 BaXXHOM 33 0 B&XXHOM 32 = NudpI1)31/ucr(I1) 27
air 30 0 BaxH. 35 reorpag 22 mtep 24 E Wud(I1)31/uct(I1) 27
reom30 ¢un.rpam23 ¢usmka 21 reorpad 22 g | IIHCouPX24
pyc.a3 25 Buon 32 nH}3 lanr33 ¢uznka 21 % yrep 24
anr.s3 36/19 ¢u3mka 21 anr33 map31 Bron 32 = jrep 26
¢uznka 21 step 26 step 24 TBuC 36 pasr o BaxH 27
pyc air 36 TEXHOJIOT buon(I1)32
HUKT U ucropust 9 0,B,r / pusnka buon(I1)32
UKT U | MKT | MKT Buostorus
I'eorpadus
I'eorpadus
autep 25 reorpag 22 Xumuns 32 ucrop 23 Wud(b) 31/(5)30
Xumus 32 TEXHOJIOT anr 34 ¢uzuka 21 anr.s3 33/19
¢usmka 21 anr19und31 Buon 24 Xumust 32 reoM 34,anr30
ucrop 24 nad 31/anT 19 ¢u3nka 21 reorpag 22 reom(I1)34/anr(5)30
Buon 32 reoM 36 Pyc.s13 24 anr.s3 33/19 9 Pyc.s13 20
¢usz-pa (B) Xumus 32 ucrop 27 reoM 36 = Pyc.s13 20
air 30 uctop 27 ¢us-pa (B) TEXHOJIOT ? Wud(I1)316uoa(I1) 32 / UcTopus
Buojorus/ ¢gusznka @ Wud(I1)31 / maTemaruka b
UKT Kp MaTeM XHMHUSA
MaTeM MaTeM Xumus
MaTeM Xumus
autep 25 surep 24 anr.s3 33(1)/ anr 36 Oouy(IT) 23/xum(I1)32
pyc.a3 25 anr.s3 21/19 air 34 reom 36 Oomy(IT) 23/ xum(I1)32
anr 30 air 36 reom34 Bbuon 37 sutep 24
00m23 reom 36 Pyc.s13 24 Pyc.s13 26 anr 34,30
reorpad 22 06m?23 mutep 24 ytep 26 anr 34,TBUC 30
¢un.rpam35 Pyc.s13 24 reorpad 22 0023 % ¢usmka 21
TEXHOJIOT ¢usuka 21 06122 anr.s3 33/19 & | c/x marem 34,30
O0mecTBO pyc /anr.a3 33(2) pyc reom(I1) 34
pyc pyc UKT
XHUMUs MarTeM
MarTeM
aur.s3 35/19 ¢usnka 21 ucrop 27 Pyc.s13 24 anr(I1) 34
ucrop 27 Pyc.s13 24 Xumus 32 aHr.s3 35/19 anr(IT) 34/
¢usnka 21 Pyc.s13 24 Buon 26 uud 30/31 Oo6my(I1) 23/(B) 27
und 30/31 Xummnst 32 ¢usnka 21 Dus-pa(N) Oouy(IT) 23/(b) 27
Buon 27 Ous-pa(H) mutep 24 Xumus 32 . anr.s3 33/19
Xumus 32 Buon 27 ¢us-pa (B) ucrop 23 § reorpad 22
¢uz-pa (B) uctop 23 reom34 ¢uznka 21 5 ¢us-pa(3)
npopmMuH2S npopmun.23 OI'D pyc 24 npodmun3?2 ” ¢buz-pa(3)
marem U OomecTBOo 90,B,r Pycc.s3.
marem U HUKT K
anr.s13 33/19 TBuC 36 anr.s3 33(1)/ OBX 35 g | Xum(B)32
TBuC 30 air 36 Pyc.s13 24 yrep 24 E OBX 35
reorpag 22 anr.s3 33/19 OBX 35 Pyc.s3 24 g Xum(I1)32/6no(b)12
pyc.s3 25 Oduz-pa(N) anr 34 anr 36 ¢usnka 21
qTep 25 OBX 35 TBuC 34 anr 36 anr.s3 33/19
reom30 surep 24 ¢ua.rpam33 Dms-pa(N) uct(Il) 27/(b) 35
OBX 35 npopmuH33 ¢un.rpam3 |1 ucr(I1) 27/(b)35
Marem U /aHr.s13 33(2) TBuC 34,reom30
Marem U Marem I1
Marem I1
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